MC LINE

cmatic SR RIS

PNEUMATIC FITTINGS Brass Nickel-Plated Push-on Fittings

MCRFIiRITHEEL , AAEREARNDEEH T ZIRF M~ 4EMIEE  The Push-on Fittings of the MC line are provided with a cone to ensure the perfect
HRBREE, tightness once the tubing is assembled and the nut tightened.
MCRIIFTEELIL Y B ERRELE, All MC Fitting are electrolytic nickel plated.




I —

LA IR R E
Fitting Body Nut Seals
FH4FUNI EN 12164 CW614N - UNI EN 12165 CW617N4E4R UNI EN 12164 CW614N4E 48 547 NBR
Brass UNI EN 12164 CW614N - UNI EN 12165 CW617N Nickel Plated Brass UNI EN 12164 CW614N Nickel Plated NBR

N4 7
N

@ © < 4

-40°C-150°C & AK25 bar

M5x0.8 G1/8  G1/4 G3/8 G1/2 R1/8 R1/4 R3/8 R1/2
4 o ° °
5 ° ° °
C 6 ° ° ° ° °
hg 8 ° ° ° °
LA 10 ° ° ° °
12 o °
15
FEARMAE DATA SHEET
BUHEEER Recommended tubings:
PA11, PA12, PERZ#&. PUREE. PA11, PA12, Polyethylene PE, Polyurethane PU
AESHERNE Acceptable Tolerances on the tubings:
+/-0.07 mm , {RARER 10 mm +/-0,07 mmupto @10 mm
+-0.1mm , RKEED 15 mm, +/~0,1 mmupto @ 15mm
A Application fields:
SHRE. Pneumatic circuits.

132



R ASSEMBLY INSTRUCTIONS

1EEYEER  BAERAARZEER 1. Cut the tube at 90° making sure that no burr is left;

2 IR EAER 2. Push the nut onto the tube;

IFEREEHEA L AOHAZEEEE 3. Push the tube and nut onto the fitting nozzle and make sure that the tube goes all the way
ABFHEERFITRES up to the nozzle base;

4. Tighten the nut by hand or if necessary by a spanner.

g

SERGERES , BRARER LREIND ; A, EFERAEHREENS Once the tubing is connected to the fitting, make sure that the tubing is not
A NEWERFELHMEIBRZAE. subject to any tensile strength and that the min. recommended bending radius
— @BL4UFEN , BSEEATIIHNEIIRE, &= stated in the tubing section of this catalogue is complied with (see page 335).
To tighten threads, please check out our tightening torque chart illustrated
at page 6.

133



HIRGBEEEL Taper Straight, male
EEid) ER&Ege D1 L1 L2 CH1 CH2 g 62
110418 4-25 RIS 75 235 7 11 74
110518 53 R1/8 8 25 8 12 86
110618 6-4 R1/8 8 215 12 12 15
1106 14 6-4 R1/4 11 31 12 14 206
1106 38 6-4 R3/8 15 315 12 17 239
110818 8-6 R1/8 8 275 14 12 17.7
110814 8-6 R1/4 11 31 14 14 233
1108 38 8-6 R3/8 15 315 14 17 27.4
_ 111018 10-8 R1/8 8 295 16 14 2
- 111014 10-8 R1/4 11 325 16 14 266
o 111038 10-8 R3/8 15 33 16 17 33.1
111012 10-8 R1/2 14 36 16 2 483
111238 12410 R3/8 15 345 18 17 373
11212 1210 Ri12 14 375 18 22 495
111512 15-125 R1/2 14 395 2 22 619
BEIRGEEEL Parallel Straight, male
Bl ERDe D1 L1 L2 CH1 CH2 g iy
o 1204 M5 4-25  M5x08 5 20 7 7 34
: 120418 425 GI/8 6 225 7 14 97
1205 M5 5-3 M5x0.8 4 20 8 8 48
120518 5-3 G1/8 6 23 8 14 106
CHI 1206 M5 6-4 M5x0.8 4 21 9 8 6.1
¥ on . 120618 64  GIB 6 %5 12 1 164
. 1206 14 6-4 G1/4 8 28 12 17 21
= 1206 38 6-4 G3/8 9 29 12 19 275
o 120818 8-6 G1/8 6 255 14 14 18.8
120814 8-6 G1/4 8 28 14 17 252
1208 38 86 G3/8 9 29 14 19 30.1
121018 10-8 G1/8 6 27 16 14 229
121014 10-8 GI/4 8 295 16 17 29.4
121038 10-8 G338 9 305 16 19 326
121012 10-8 G1/2 10 32 16 24 451
121238 1210 G389 32 18 19 38.1
121212 1210  G1/2 10 335 18 24 532
121512 15-125  G1/2 10 355 2 24 60.9
RIRGE E#EL Female Straight
B3l ERDe D1 L1 L2 CH1 CH2 g 42
130518 53 G1I/8 8 225 8 14 124
130618 6-4 GI/8 8 25 12 14 1738
1306 14 6-4 G1/4 11 29 12 17 258
130818 8-6 GI/8 8 25 14 14 20.1
130814 8-6 G1/4 11 29 14 17 275
130838 8-6 G3/8 15 295 14 20 311
5 131014 10-8 G1/4 11 305 16 17 322
- 131038 10-8 G3/8 15 31 16 20 36.1
131238 1210  G3/8 15 325 18 20 397

134



SRR SRSk

HIMRAEERZL

RIRE AL

CH2

L1

®

Union
Etid) ERge L1 CH1 CH2 g 60
14 05 05 5-3 285 8 8 7.5
14 06 06 6-4 345 12 12 205
140808 8-6 35 14 14 279
141010 10-8 38 16 14 36
141212 12210 41 18 17 47
141515 15-125 455 2 2 74.6
Bulkhead Union
RE E#EQDe D1 L1 Lagkx CHi  CHz RRAY
15 05 05 5-3 M7x0.75 40 85 8 9 109
15 06 06 6-4 M10x1 48 10.5 12 14 332
1508 08 8-6 Mi12x1 48 105 14 16 426
151010 10-8 M14x1 50 85 16 17 56
151212 12-10 M16x1 53 8.5 18 19 753
151515 15-125  M20x1 58 8.5 22 24 104.6
Taper Elbow Fitting, male
Esid) ERQe D1 L1 L2 L3 CH1 CH2 g 62
16 04 M5 4-25 M5x08 5 15.5 20 7 9 10.4
160418 4-25 R1/8 75 17 20 7 9 10.7
160518 5-3 R1/8 8 17 215 8 8 108
160618 6-4 R1/8 8 17 225 12 8 15.9
1606 14 6-4 R1/4 11 20 225 12 10 216
1606 38 6-4 R3/8 15 225 235 12 1 303
16 08 18 8-6 R1/8 8 17 225 14 10 19.4
1608 14 8-6 R1/4 1 20 225 14 10 233
1 1608 38 8-6 R3/8 15 225 24 14 1 31
161018 10-8 R1/8 8 18.5 255 16 " 216
161014 10-8 R1/4 1 215 255 16 1 31.4
1610 38 10-8 R3/8 15 225 255 16 1 347
1612 38 12-10 R3/8 11.5 245 30 18 14 46
161212 12110 R1/2 14 28 305 18 17 66.5
161512 15125 R1/2 14 28 34 22 17 69.6
Female Elbow
Egid EHFRDe D1 L1 L2 L3 CH1 CH2 g 62
170518 5-3 G1/8 8 19 215 8 10 20.8
170618 6-4 G1/8 8 19 225 12 10 205
170614 6-4 G1/4 105 23 25 12 11 306
170818 8-6 G1/8 8 19 225 14 10 27.7
170814 8-6 G1/4 105 23 25 14 1 31
171014 10-8 G1/4 1 235 26 16 13 39.2
171238 12-10 G3/8 115 28 305 18 17 67.6

135




E AR

ETE =&E#EL

HIRGIETR =@ X

HIRGETR =Bk

D1

Union Elbow

Bl EEDe L1 CH1 CH2 g 52
18 05 05 5-3 215 8 8 13.1
18 06 06 6-4 215 12 8 227
1808 08 8-6 225 14 10 31.1
181010 10-8 255 16 11 386
181212 12110 30 18 14 58
181515 15125 34 22 17 84.3
Union Tee

il BERDe L1 L2 CH1 CH2 g 62
19 0505 5-3 43 215 8 8 18.6
19 06 06 6-4 45 225 12 8 32.1
190808 8-6 45 225 14 10 Mn3
191010 10-8 51 255 16 1 54.5
191212 1210 60 30 18 14 84.9
191515 15-125 68 34 22 17 124.2
Taper Male Tee

Bl ERDe D1 L1 L2 L3 CH1 CH2 g 52
200518 5-3 R1/8 8 17 43 8 8 175
2006 18 6-4 R1/8 8 17 45 12 8 27.1
200614 6-4 R1/4 11 205 455 12 10 352
200818 8-6 R1/8 8 175 455 14 10 336
200814 8-6 R1/4 1 205 455 14 10 377
201014 10-8 R1/4 1 215 51 16 1 48
201038 10-8 R3/8 115 225 51 16 1 51.1
201238 1210 R3/8 115 245 60 18 14 69.5
201212 1210 R1/2 14 28 61 18 17 994
201512 15-125 R1/2 14 28 68 22 17 108.3
Taper Lateral Tee

E3il ERDe D1 L1 L2 L3 L4 CH?1 CHz2 g&d
210518 5-3 R1/8 8 17 215 385 8 8 17.7
210618 6-4 R1/8 8 17 225 395 12 8 258
210614 6-4 R1/4 1 20 225 425 12 10 338
210818 8-6 R1/8 8 175 225 405 14 10 36.9
210814 8-6 R1/4 1 205 225 435 14 10 36.3
211014 10-8 R1/4 i 21 255 46.5 16 1 474
211038 10-8 R3/8 115 225 255 48 16 1 512
211238 12-10 R3/8 115 245 30 54.5 18 14 722
211212 1210  R1/2 14 28 30,5 58.5 18 17 99.1
211512 15-125 R1/2 14 28 34 62 22 17 107.1

136



+FEL Cross Fitting
et EEDe L1 L2 CH1  CH2 g 6D
22 05 05 5-3 43 43 8 8 454
2206 06 6-4 45 45 12 8 456
220808 8-6 45 45 14 10 53.1
221010 10-8 51 51 16 1 723
BESEEL ARG Single Banjo Ring
KR ERDe D1 L1 L2 L3 CH1 g &b
2304 M5 425 5.1 9 18 45 7 6.6
2304 M5 /R 425 7 10 18 35 7 55
3[ 230418 4-25 10 15 215 6 7 127
_ 2305 M5 53 5.1 9 19 45 8 73
- 2305 M5 /R 5-3 7 10 19 35 8 65
230518 5-3 10 15 23 6 12 205
2306 M5 6-4 5.1 9 19 45 9 79
2306 M5 /R 6-4 7 10 19 35 9 6.8
230618 6-4 10 15 25 6 12 185
230614 6-4 132 17 26.5 75 12 25.6
230818 86 10 15 25 6 14 215
230814 86 132 17 27.5 75 14 27.4
230838 86 17 20 295 75 14 39
231014 10-8 132 17 285 75 16 292
231038 108 17 20 305 75 16 M5

/=1 F SR E T2 - For flow controls only

RIBREEL AR Double Banjo Ring
RE E#EJe D1 L1 L2 L3 CH1 g 62
5 2405 M5 53 5.1 9 34 45 8 12

240518 53 10 15 50 6 12 306

CH1 2406 M5 6-4 5.1 9 34 45 9 127

240618 6-4 10 15 50 6 12 30.1

3L N - 240614 64 13.2 17 53 75 12 355

= — ! 240818 8-6 10 15 50 6 14 319

‘ 240814 8-6 13.2 17 55 75 14 389

01| 8 240838 8-6 17 20 59 75 14 514

241014 108 13.2 17 57 75 16 445

241038 10-8 17 20 61 75 16 56.1

137



25 Nut
e~ ERDe D1 L1 CH1 g 62
LeQ., 270407 4-25 M6x0.75 8 7 1.1
270508 5-3 M7x0.75 85 8 12
CHI = 2706 08 6-4 M8x0.75 9 9 15
; 270610 6-4 M10x1 105 12 4.1
D1 270812 8-6 M12x1 10.5 14 5
271014 10-8 M14x1 15 16 6.5
271216 12-10 M16x1 13 18 8.8
271520 15-125  M20x1 155 22 14.3
HIRGQEEL Swivelling Taper straight
Etid) ER&De D1 L1 L2 CH1 CH2  CHs g b
2906 18 6-4 R1/8 8 37 12 12 12 22
290614 6-4 R1/4 1" 40 12 14 14 28
290818 8-6 R1/8 8 37 14 12 12 26
290814 8-6 R1/4 i 40 14 14 14 30
291014 10-8 R1/4 " 42 16 14 14 34
o 1 @
20°C-80°C B A5 bar
BREEL Swivelling Fitting with Banjo Ring
5 B3l BERQe D1 D2 D3 L1 L2 L3 L4 CH1  CH2 g4
CHa CHI 300618 6-4 G1/8 14 14 5 25 16.5 255 12 4 28.2
300614 6-4 G1/4 16 18 6.5 26.5 19 29 12 5 419
3008 18 8-6 G1/8 14 14 5 25 16.5 255 14 4 28.7
300814 8-6 G1/4 16 18 6.5 215 19 29 14 5 441
T 301014 10-8 G1/4 16 18 6.5 285 19 29 16 5 46.7
3 i 301038 10-8 G3/8 21 18 7 305 235 325 16 8 68.7

L3

v;—m‘»

: | @

-20°C-80°C B K15 bar

138



FIBE R

L4

L3

HRP B EIRT

DRGIoER:8:2: 38

L4

L3

AR E B R

L4

Swivelling Fitting with Double Banjo Ring
L2
CH2 CHI el ERQe D1 D2 D3 L1 L2 L3 L4 CH1  CH2 g &b
310618 6-4 G1/8 14 14 5 25 16.5 255 12 4 39.2
310614 6-4 G1/4 16 18 6.5 26.5 19 29 12 5 52.9
B - 310818 8-6 G1/8 14 14 5 25 16.5 255 14 4 412
i 310814 8-6 G1/4 16 18 6.5 215 19 29 14 5 56
g 311014 10-8 G1/4 16 18 6.5 285 19 29 16 5 64
s 311038 10-8 G3/8 21 22 7 30.5 235 325 16 8 84.6
I
D1
D2
03
20°C-80°C  FK15 bar
Nut with Protection Spring
B3] ERJe D1 L1 CH1 g &b
3206 04 6-4 M10x1 95 12 14
32 08 06 8-6 M12x1 935 14 18
321008 10-8 M14x1 965 16 22
Swivelling Elbow
CH2
| 3l ERDe D1 L1 L2 L3 L4 CH1  CH2 g &0
]: 3404 M5 4-25 M5x0.8 4 16 95 19 7 8 94
340418 4-25 G1/8 6 215 16.5 27 7 14 215
3405 M5 5-3 M5x0.8 4 19 9.5 19 8 8 10
340518 5-3 G1/8 6 25 16.5 27 8 14 27
3406 M5 6-4 M5x0.8 4 19 9.5 19 9 8 10.8
:J \ 340618 6-4 G1/8 6 25 16.5 27 12 14 325
o 340614 6-4 G1/4 8 26.5 19.5 315 12 17 52.4
340818 8-6 G1/8 6 25 16.5 27 14 14 336
340814 8-6 G1/4 8 27.5 19.5 315 14 17 54.6
3408 38 8-6 G3/8 9 29.5 235 36 14 20 83.4
341014 10-8 G1/4 8 285 19.5 315 16 17 56.7
20°0-80°C  BA15bar 331038 108 G389 05 235 3 16 20 86.2
Swivelling Tee
B3l EEZDe D1 L1 L2 L3 L4 CH1  CH2 g 68D
36 05 M5 5-3 M5x0.8 4 17 95 19 8 8 14.3
360518 5-3 G1/8 6 25 16.5 27 8 14 445
36 06 M5 6-4 M5x0.8 4 17 95 19 9 8 183
3606 18 6-4 G1/8 6 25 16.5 27 12 14 441
360614 6-4 G1/4 8 26.5 19.5 315 12 17 63.2
360818 8-6 G1/8 6 25 16.5 27 14 14 46.3
360814 8-6 G1/4 8 215 19.5 Bils 14 17 66.5
36 08 38 8-6 G3/8 9 295 235 36 14 20 96.2
361014 10-8 G1/4 8 285 19.5 315 16 17 724
361038 10-8 G3/8 9 305 235 36 16 20 103.3

-20°C-80°C & AK15 bar

139






